
[A] General (l kekU; )
1. This Question paper contains FIVE Parts, A to E (Physics, Chemistry, Mathematics, Biology & Mental Ability).

bl  i z' u&i =k esa i k¡p Hkkx A l s E (HkkSfrdh] jl k; u ' kkL=k] xf.kr] t hofoKku vkSj ekufl d ; ksX; rk)  ' kkfey gSaA
2. This Question Paper contains 24 pages including the cover page.

bl  i z' u&i =k esa doj i "̀B l fgr 24 i "̀B ' kkfey gSaA
3. This question paper contains total 100 questions (20 questions each in Physics, Chemistry, Mathematics,

Biology and Mental Ability).
bl  i z' u&i z=k eas dqy 100  i z' u (HkkSfrdh] j l k; u foKku] xf.kr] t hofoKku vkSj ekufl d ; ksX; rk buesa l s i zR; sd fo"k;  ds 20 i z' u) gSaA

4. The Question Paper has blank spaces at the bottom of each page for rough work. No additional sheets will be
provided for rough work.
i z' u&i =k esa j i Q odZ ds fy,  i zR; sd i "̀B ds uhps fjDr LFkku gksrs gSaA j i Q odZ dss fy,  dksbZ v frfjDr i "̀B ugha fn; k t k, xkA

5. Blank papers, clip boards, log tables, slide rule, calculators, cellular phones, pagers and electronic gadgets, in
any form, are NOT allowed.
fdl h Hkh : i  esa [ kkyh dkxt ] fDyi  cksMZ] ykWx Vscy] LykbM : y] dSydqysVj] l syqyj i Qksu] i st j vkSj bysDVªkWfud xSt sV~l  dh vuqefr ugha gSA

6. The OMR (Optical Mark Recognition) sheet shall be provided separately.
OMR (Optical Mark Recognition) i "̀B vyx l s i znku fd; k t k, xkA

[B] Answering on the OMR

7. In all the parts, each question will have 4 choices out of which only one choice is correct.

l Hkh Hkkxksa esa] i zR; sd i z' u esa 4 fodYi  gksaxs] ft l esa l s dsoy , d fodYi  l gh gksxkA
8. Darken the bubble with Ball Pen (Blue or Black) ONLY.

dsoy ckWy i su ( Cyw ; k CySd)  ds l kFk cqycqys dks xgjk djsaA
[C] Filling OMR

9. On the OMR sheet, fill all the details properly and completely, otherwise your OMR will not be checked.
OMR ' khV i j ] l Hkh fooj.k Bhd l s vkSj i wjh rjg l s Hkjsa] vU; Fkk vki ds OMR dh t kap ugha dh t k, xhA

10. Do not write anything or tamper the barcode in the registration no. box.
dqN Hkh u fy[ ksa ; k i at hdj.k l a[ ; k esa ckjdksM l s NsM+NkM+ u djsaA
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[D] Marking Scheme: ( v adu ; kst uk )
11. For each question you will be awarded 3 marks if you darken the bubble corresponding to the correct answer ONLY and

zero (0) marks if no bubble is darkened. In all other cases, minus one (–1) mark will be awarded.

i zR; sd i z' u i j  vki dks 3 vad i znku fd; k t k; xk ; fn vki  l gh mÙkj ds vuq: i  ccy dks dkyk djrs gSaA ; fn dksbZ ccy dkyk ugha gS rks ' kwU;  (0)
vad fn; k t k, xkA vU;  fdl h fLFkfr esa ekbUl  , d  (–1) vad fn; k t k, xkA
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PART-A : PHYSICS (HkkSfrdh)
1. The vehicles generally slip on the road, when it rains, because

(A) friction between tyres and road is large

(B) friction between tyres and road is not sufficient

(C) inertia between tyres and road is large

(D) inertia between tyres and road is very less

ckfj'k gksus ij vkerkSj ij okgu lM+d ij fQly tkrs gSa] D;ksafd

(A) Vk;j vkSj lM+d ds chp ?k"kZ.k cM+k gS

(B) Vk;j vkSj lM+d ds chp ?k"kZ.k i;kZIr ugha gS

(C) Vk;j vkSj lM+d ds chp tM+rk cM+h gS

(D) Vk;j vkSj lM+d ds chp tM+rk cgqr de gS
2. A block of 10 kg is pulled by a constant speed on a rough horizontal surface by a force of

19.6 N. The coefficient of friction is

10 fdxzk dk ,d CykWd fdlh [kqjnjh {kSfrt lrg ij fu;r pky ls 19.6 N ds cy }kjk [khapk tkrk
gS ?k"kZ.k dk xq.kkad gS

(A) 0.1 (B) 0.2 (C) 0.3 (D) 0.4
3. When a speeding car takes a sharp turn, the persons sitting in it experience outward pull. This

happens due to

(A) inertia of direction (B) change in momentum

(C) change in acceleration (D) none of the above

rst j¶rkj dkj tc rst eksM+ ysrh gS rks mlesa cSBs yksxksa dks ckgj dh vksj f[kapko dk vuqHko gksrk
gSA bldk dkj.k gksrk gS

(A) fn'kk dh tM+rk (B) xfr esa ifjorZu

(C) Roj.k esa ifjorZu (D) mijksä esa ls dksbZ ugha
4. Two balls having masses m1 and m2 are dropped from heights h1 and h2 respectively in the

earths gravitational field. The ratio of their acceleration is (h1, h2 << R)

(A) m1 : m2 (B) h1 : h2 (C) 1 : 1 (D) None of these

m1 rFkk m2 æO;eku okyh nks xsansa iF̀oh ds xq#Rokd"kZ.k {ks= esa Øe'k% Å¡pkbZ h1 vkSj h2 ls fxjk, tkrs
gSaA muds Roj.k dk vuqikr gS ¼h1] h2 << R½

(A) m1 : m2 (B) h1 : h2 (C) 1 : 1 (D) buesa ls dksbZ ugha
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5. The pressure exerted by the weight of a cubical block of side 4 cm on the surface is
10 pascal. Calculate the weight of the block.

(A) 1.6 × 102 N. (B) 1.6 × 10–3 N. (C) 1.6 × 10–2 N. (D) None of these

lrg ij 4 lseh Hkqtk okys ,d ?kuh; CykWd ds Hkkj }kjk Mkyk x;k nkc gS 10 ikLdyA Cy‚d ds otu

dh x.kuk djsaA

(A) 1.6 × 102 N. (B) 1.6 × 10–3 N. (C) 1.6 × 10–2 N. (D) buesa ls dksbZ ugha

6. A person sitting in an open car moving at constant velocity throws a ball vertically up into air.
The ball falls

(A) Outside the car (B) In the car ahead of the person

(C) In the car to the side of the person (D) Exactly in the hand which threw it up

,d [kqyh dkj esa cSBk O;fä fujarj osx ls xfreku ,d xsan dks gok esa Åij dh vksj Qsadrk gSA xsan
fxjrh gS

(A) dkj ds ckgj (B) O;fä ds vkxs dkj esa

(C) dkj esa O;fä ds i{k esa (D) fcYdqy gkFk esa ftlus bls Qsad fn;k

7. An object will continue moving uniformly until

(A) The resultant force acting on it begins to decrease

(B) The resultant force on it is zero

(C) The resultant force is at right angle to its rotation

(D) The resultant force on it is increased continuously

,d oLrq rc rd leku :i ls pyrh jgsxh tc rd

(A) bl ij dk;Z djus okyk ifj.kkeh cy ?kVus yxrk gS

(B) bl ij ifj.kkeh cy 'kwU; gS

(C) ifj.kkeh cy blds ?kw.kZu ds ledks.k ij gS

(D) bl ij ifj.kkeh cy yxkrkj c<+rk jgrk gS

8. A ball of mass 0.2 kg moves with a velocity of 20 m/sec and it stops in  0.1 sec, then the force
on the ball is

0-2 fdxzk æO;eku dh ,d xsan 20 eh@lsds.M ds osx ls xfr djrh gS rFkk ;g 0-1 lsd.M esa #d
tkrh gS] rks xsan ij yxus okyk cy gS

(A) 40 N (B) 20 N (C) 4 N (D) 2 N
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9. The limiting friction is
(A) Always greater than the dynamic friction
(B) Always less than the dynamic friction
(C) Equal to the dynamic friction
(D) Sometimes greater and sometimes less than the dynamic friction

lhfer ?k"kZ.k gS

(A) ges'kk xfr'khy ?k"kZ.k ls vf/kd

(B) ges'kk xfr'khy ?k"kZ.k ls de

(C) xfr'khy ?k"kZ.k ds cjkcj

(D) xfr'khy ?k"kZ.k ls dHkh vf/kd vkSj dHkh&dHkh de
10. Which one of the following is not used to reduce friction ?

(A) Oil (B) Ball bearings (C) Sand (D) Graphite

fuEufyf[kr esa ls fdldk mi;ksx ?k"kZ.k dks de djus ds fy, ugha fd;k tkrk gS\

(A) rsy (B) c‚y cs;fjax (C) jsr (D) xzsQkbV
11. From the adjacent figure, the correct observation is

 

Water Water 

(a) (b) 

(A) The pressure on the bottom of tank (a) is greater than at the bottom of (b).
(B) The pressure on the bottom of the tank (a) is smaller than at the bottom of (b).
(C) The pressure depend on the shape of the container.
(D) The pressure on the bottom of (a) and (b) is the same.

vklUu vk—fr ls] lgh voyksdu gS

 

Water Water 

(a) (b) 

(A) VSad (a) ds ry ij ncko (b) ds ry ls vf/kd gSA

(B) VSad (a) ds ry ij ncko (b) ds ry ls NksVk gSA

(C) ncko daVsuj ds vkdkj ij fuHkZj djrk gSA

(D) (a) vkSj (b) ds ry ij ncko leku gSA
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12. Pressure at a point inside a liquid does not depend on

(A) the depth of the point below the surface of the liquid

(B) the nature of the liquid

(C) the acceleration due to gravity at that  point

(D) the shape of the containing vessel

æo ds Hkhrj fdlh fcanq ij nkc fuHkZj ugha djrk gS

(A)  rjy dh lrg ds uhps fcanq dh xgjkbZ

(B)  rjy dh ç—fr

(C)  ml fcanq ij xq#Rokd"kZ.k ds dkj.k Roj.k

(D)  ;qä crZu dk vkdkj
13. A spring balance is graduated on sea level. If a body is weighted at consecutively increased

height from earth’s surface, the weight indicated by the balance

(A) will go on increasing  continuously (B) will go on decreasing continuously

(C) will remain same (D) will first increase and then decrease

,d fLçax cSysal dks leqæ ry ij xzStq,V fd;k tkrk gSA ;fn fdlh fiaM dks iF̀oh dh lrg ls yxkrkj
c<+h gqbZ ÅapkbZ ij Hkkfjr fd;k tkrk gS] rks fLizax cSysal }kjk n'kkZ;k x;k Hkkj

(A) yxkrkj c<+rk jgsxk (B) yxkrkj ?kVrs jgsxk

(C) ogh jgsxk (D) igys c<+sxk vkSj fQj ?kVsxk
14. A force acts on a body of mass 3 kg such that its velocity changes from 4 ms–1 to 10 ms–1.

The change in momentum of the body is

(A) 42 kg ms–1 (B) 2 kg ms–1 (C) 18 kg ms–1 (D) 14 kg ms–1

3 fdxzk æO;eku ds fiaM ij ,d cy bl çdkj dk;Z djrk gS fd mldk osx 4 ms–1 ls 10 ms–1.

esa ifjofrZr gks tkrk gSA 'kjhj ds vkosx esa ifjorZu gS

(A) 42 fdxzk ms–1 (B) 2 fdxzk ms–1 (C) 18 fdxzk ms–1 (D) 14 fdxzk ms–1

15. Find acceleration of the body along x-axis if friction coefficient of the surface is µ = 0.1

x-v{k ds vuqfn'k fiaM dk Roj.k Kkr dhft, ;fn lrg dk ?k"kZ.k xq.kkad µ ¾ 0-1 gS

10 kg 
x

y

F = 100N

(A) 1 m/s2 (B) 9 m/s2 (C) 0 m/s2 (D) 10 m/s2
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16. A block of mass 3 kg which is at rest on a surface is pulled horizontally by a force. If the
displacement of the block is 15 m in the first 3 s and the surface offers a resistance of 2 N,
find the sequence of steps to calculate the magnitude of applied force.
(a) Note down the values of s, u, t and frictional force.
(b) The applied force on the block is the sum of frictional force and net force.
(c) Substitute the values of s, u and t in the equation of motion and solve for ‘a’
(d) Using Newton’s second law of motion, calculate the net force acting on the block.
(A) a, d, b, c (B) a, c, b, d (C) a, c, d, b (D) a, b, d, c
3 fdxzk æO;eku dk ,d CykWd tks ,d lrg ij fojkekoLFkk esa gS] ,d cy }kjk {kSfrt :i ls [khapk
tkrk gSA ;fn igys 3 s esa CykWd dk foLFkkiu 15 m gS vkSj lrg 2 N dk çfrjks/k çnku djrk gS]
rks ykxw cy ds ifjek.k dh x.kuk djus ds fy, pj.kksa dk Øe Kkr dhft,A

(a) s, u, t vkSj ?k"kZ.k cy ds ewY;ksa dks uksV djsaA

(b) Cy‚d ij yxk;k x;k cy ?k"kZ.k cy vkSj 'kq) cy dk ;ksx gSA

(c) xfr ds lehdj.k esa s, u, t ds ewY;ksa dks çfrLFkkfir djsa vkSj ‘a’ ds fy, gy djsa

(d) U;wVu ds xfr ds nwljs fu;e dk mi;ksx djds] Cy‚d ij yxus okys 'kq) cy dh x.kuk djsaA

(A) a, d, b, c (B) a, c, b, d (C) a, c, d, b (D) a, b, d, c
17. Assertion : If the net external force on the body is zero, then its acceleration is zero.

Reason : Acceleration does not depend on force.
(A) Both assertion and reason are CORRECT and reason is CORRECT explanation of the

assertion.
(B) Both assertion and reason are CORRECT but reason is NOT THE  CORRECT explanation

of the assertion.
(C) Assertion is CORRECT but reason is INCORRECT.
(D) Assertion is INCORRECT but reason is CORRECT.
vfHkdFku % ;fn 'kjhj ij 'kq) ckgjh cy 'kwU; gS] rks bldk Roj.k 'kwU; gSA

dkj.k % Roj.k cy ij fuHkZj ugha djrk gSA

(A) dFku vkSj dkj.k nksuksa lgh gSa vkSj dkj.k dFku dh lgh O;k[;k djrk gSA

(B) dFku vkSj dkj.k nksuksa lgh gSa ysfdu dkj.k dFku dk lgh Li"Vhdj.k ugha gSA

(C) dFku lgh gS ysfdu dkj.k xyr gSA

(D) dFku xyr gS ysfdu dkj.k lgh gSA

18. An air bubble rises up in water because,
(A) there is no gravity in water.
(B) pressure inside the bubble is less than the pressure outside it.
(C) the upthrust acting on the bubble is more than the weight of the bubble.
(D) air cannot dissolve in water.
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gok dk cqycqyk ikuh esa Åij mBrk gS D;ksafd]

(A) ikuh esa dksbZ xq#Rokd"kZ.k ugha gSA

(B) cqycqys ds vanj ncko mlds ckgj ds ncko ls de gSA

(C) cqycqys ij vfHku; djus okyk viFkzLV cqycqys ds otu ls vf/kd gSA

(D) ok;q ty esa ugha ?kqy ldrhA

19. While opening a tap with two fingers, the forces applied are

(A) equal in magnitude (B) parallel to each other

(C) opposite in direction (D) All the above

uy dks nks vaxqfy;ksa ls [kksyrs le;] yxk, x, cy gSa

(A) ifjek.k esa cjkcj (B) ,d nwljs ds lekukarj

(C) fn'kk esa foijhr (D) mijksä lHkh

20. A ship of mass 3 × 107 kg initially at rest is pulled by a force of 5 × 104 N through a distance of
3 m. Assuming resistance due to water in negligible. Then the speed of the ship is

(A) 0.1 ms–1 (B) 0.2 ms–1 (C) 0.3 ms–1 (D) 0.4 ms–1

3 × 107 fdxzk æO;eku dk ,d tgkt 'kq: esa fojke voLFkk ls 5 × 104 N ds cy }kjk 3 ehVj dh
nwjh rd [khapk tkrk gSA ikuh ds dkj.k çfrjks/k ux.; ekurs gSaA rks tgkt dh xfr gS

(A) 0.1 ms–1 (B) 0.2 ms–1 (C) 0.3 ms–1 (D) 0.4 ms–1

PART-B : CHEMISTRY   (j l k; u ' kkL=k)
21. Metals combine with oxygen to form _______oxides.

(A) acidic (B) basic (C) amphoteric (D) none

/kkrq,¡ v‚Dlhtu ds lkFk la;ksx djds _______cukrh gSaA

¼A½ vEyh; ¼B½ {kkjh; ¼C½ mHk;pj ¼D½ dksbZ ugha

22. Metals react with water to form oxides or hydroxides and _______.

(A) hydrogen (B) oxygen (C) carbon dioxide (D) carbon monoxide

/kkrq,¡ ty ds lkFk vfHkfØ;k djds v‚DlkbM ;k gkbMª‚DlkbM cukrh gSa vkSj _______.

¼A½ gkbMªkstu ¼B½ v‚Dlhtu

¼C½ dkcZu Mkbv‚DlkbM ¼D½ dkcZu eksuksv‚DlkbM
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23. Eating away of metals by water, oxygen and other chemicals is called :

(A) carbonisation (B) amalgamation (C) oxidation (D) corrosion

/kkrqvksa dks ikuh] v‚Dlhtu vkSj vU; jlk;uksa }kjk u"V dks dgk tkrk gS %

¼A½ dkcksZukbts'ku ¼B½ lekesyu ¼C½ v‚Dlhdj.k ¼D½ tax

24. Rusting of iron requires the presence of :

(A) air and water (B) CO2 and water (C) O2 and H2 (D) O2 and N2

yksgs esa tax yxus ds fy, fdldh mifLFkfr dh vko';drk gksrh gS %

¼A½ gok vkSj ikuh ¼B½ CO2 vkSj ikuh ¼C½ O2 vkSj H2 ¼D½ O2 vkSj N2

25. Metal which does not react even with stream :

(A) potassium (B) iron (C) magnesium (D) silver

/kkrq tks ok"i ls Hkh vfHkfØ;k ugha djrh gS %

¼A½ iksVsf'k;e ¼B½ yksgk ¼C½ eSXuhf'k;e ¼D½ pkanh

26. This is used for making parachutes and stockings :

(A) cotton (B) nylon (C) wool (D) bakelite

bldk mi;ksx iSjk'kwV vkSj LV‚fdaXl cukus ds fy, fd;k tkrk gS %

¼A½ dikl ¼B½ uk;y‚u ¼C½ Åu ¼D½ cSdykbV

27. Which out of the following is used for making disposable cups ?

(A) LDPE (B) PS (C) PP (D) PVC

fuEufyf[kr esa ls fdldk mi;ksx fMLikstscy di cukus ds fy, fd;k tkrk gS\

(A) LDPE (B) PS (C) PP (D) PVC

28. Which of the following is used in automobile battery casings ?

(A) HDPE (B) PP (C) PVC (D) Polyester

fuEufyf[kr esa ls fdldk mi;ksx v‚Vkseksckby cSVjh dsflax esa fd;k tkrk gS\

(A) HDPE (B) PP (C) PVC (D) Polyester
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29. This is the synthetic fibre :

(A) wool (B) cotton (C) acrylic (D) polyestyrene

;g —f=e js'kk gSA

(A)  Åu (B) dikl (C) ,fØfyd (D)  ikfyLVkbjhu

30. Which of the following is a natural fabric ?

(A) Polythene (B) PVC (C) Nylon (D) Wool

fuEufyf[kr esa ls dkSu ,d çk—frd diM+k gS\

¼A½ i‚fyFkhu ¼B½ PVC ¼C½ uk;y‚u ¼D½ Åu

31. Burning of plastic causes :

(A) water pollution (B) air pollution (C) sound pollution (D) all A, B, C

IykfLVd ds tyus ds dkj.k %

¼A½ ty çnw"k.k ¼B½ ok;q çnw"k.k ¼C½ /ofu çnw"k.k ¼D½ lHkh A, B, C

32. This is known as artificial silk :

(A) nylon (B) polythene (C) rayon (D) plastic

bls —f=e js'ke ds :i esa tkuk tkrk gS%

¼A½ uk;y‚u ¼B½ i‚fyFkhu ¼C½ js;ku ¼D½ IykfLVd

33. Raw materials for most of the natural fabrics are obtained from :

(A) water (B) earth (C) petroleum (D) sky

vf/kdka'k çk—frd diM+ksa ds fy, dPpk eky çkIr fd;k tkrk gS%

¼A½ ikuh ¼B½ iF̀oh  ¼C½ isVªksfy;e ¼D½ vkdk'k

34. Which of the following is a property of nonmetals ?

(A) Low densities (B) Low melting points

(C) Poor conductor of electricity (D) All the three

fuEufyf[kr esa ls dkSu v/kkrq dk xq.k gS\

¼A½ de ?kuRo ¼B½ de xyukad

¼C½ fctyh dk dqpkyd ¼D½ rhuksa
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35. Mercury is used in thermometers because :

(A) it does not wet the glass (B) it expands on heating

(C) it is a liquid (D) all of these

ikjk FkekZehVj esa ç;ksx fd;k tkrk gS D;ksafd%

¼A½ ;g dkap dks xhyk ugha djrk gS ¼B½ ;g xeZ djus ij QSyrk gS

¼C½ ;g ,d rjy gS ¼D½ ;s lHkh

36. The nonmetals used to treat rubber in the process of vulcanisation is :

(A) sulphur (B) phosphorus (C) carbon (D) chloride

oYdsukbts'ku dh çfØ;k esa jcj ds mipkj ds fy, ç;qä v/kkrq gS%

¼A½ lYQj ¼B½ QkLQksjl ¼C½ dkcZu ¼D½ DyksjkbM

37. Brass is an alloy of :

(A) Cu, Sn (B) Cu, Zn (C) Cu, Al (D) Sn, Pb

ihry ,d feJ /kkrq gSA

(A) Cu, Sn (B) Cu, Zn (C) Cu, Al (D) Sn, Pb

38. Which of the following is not a property of aluminium ?

(A) Good conductor of heat and electricity (B) It is malleable

(C) It is heavy (D) It is ductile

fuEufyf[kr esa ls dkSu ,Y;qfefu;e dk xq.k ugha gS\

¼A½ xehZ vkSj fctyh dk vPNk laokgd ¼B½ ;g yphyk gS

¼C½ ;g Hkkjh gS ¼D½ ;g ueuh; gS

39. The metal which is soft ?

(A) Na (B) Pb (C) Al (D) Cu

og /kkrq tks ueZ gksrh gS\

(A) Na (B) Pb (C) Al (D) Cu

40. Metals which is the best conductor of electricity :

(A) nickel (B) silver (C) gold (D) sodium

/kkrq tks fo|qr dh lcls vPNh pkyd gSA

(A) fudsy (B) pk¡nh (C) lksuk (D) lksfM;e
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PART-C : MATHEMATICS  (xf. kr )

41. The expression 
1 1 1 1...

1.2 2.3 3.4 n(n 1)
   

  for any natural number ‘n’ is

(A) Always greater than 1 (B) Always less than 1

(C) Always equal to 1 (D) Can’t say

O;atd] 
1 1 1 1...

1.2 2.3 3.4 n(n 1)
   

 , fdlh Hkh izkÑr la[;k ‘n’ ds fy,] gS

(A) ges'kk 1 ls vf/kd (B) ges'kk 1 ls de

(C) ges'kk 1 ds cjkcj (D) dgk ugh tk ldrk

42. If a and b are twin primes and a2 – b2 = 132, then their average is

;fn a vkSj b ;qXe vHkkT; vkSj a2 – b2 = 132 gS rks mudk vkSlr gS A

(A) 18 (B) 30 (C) 12 (D) 6

43. The roots of 
x x 1 12

x 1 x 2


 


 are

x x 1 12
x 1 x 2


 


 dk ewy gS A

(A) (5, 4) (B) (5, – 4) (C) (1, 2) (D) (–1, 2)

44. The value of the expression a b a c b c b a c a c b

1 1 1
1 x x 1 x x 1 x x     

 
     

 is equal to

O;atd a b a c b c b a c a c b

1 1 1
1 x x 1 x x 1 x x      
     

  dk eku gS A

(A) 0 (B) xa+b+c (C) a b c

1
x   (D) 1



[ 12 ]          For Students in Class 8 going to Class 9 |  [SAMPLE TEST PAPER ]

Mentors Eduserv: Parus Lok Complex, Boring Road Crossing, Patna-1
Helpline No. :  9569668800 | 7544015993/4/6/7

45. If 

1r
r4r

r

9 3 3p
3 3

    



 



 then p 1  is equal to

;fn 

1r
r4r

r

9 3 3p
3 3

    



 



 rks p 1  cjkcj gS A

(A) 2 (B) 32 (C) 3 / 22 (D) 1/ r3

46.
a b 2 b c 2 c a 2

a b c 4

(x ) (x ) (x )
(x x x )

  

   is equal to

a b 2 b c 2 c a 2

a b c 4

(x ) (x ) (x )
(x x x )

  

   cjkcj gS

(A) – 1 (B) 0 (C) 1 (D) 2
47. A boat goes 16 km upstream and 24 km downstream in 6 hours. Also it covers 12 km up

stream and 36 km downstream  in the same time. Find the speed of the boat in still water ?

,d uko /kkjk ds izfrdqy 16 fdeh vkSj ?kkjk ds vuqdqy 24 fdeh 6 ?kaVs esa tkrh gS A lkFk gh ;g mrus

gh le; esa 12 fdeh /kkjk ds izfrdqy rFkk 36 fdeh /kkjk ds vuqdqy tkrh gS rks 'kkar ty esa uko dh

pky D;k gS A

(A) 8 km/h (B) 4 km/h (C) 2
1
2

 km/h (D) 12 km/h

48. The value of 4 – 
5

11 13
12
4




 is

4 – 
5

11 13
12
4




 dk eku gS

(A)
40
31

(B)
4
9

(C)
1
8

(D)
31
40
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49. If x = 7 4 3 , then the vaue of 
1x
x

  is

;fn x = 7 4 3  rks 
1x
x

  dk eku D;k gS A

(A) 8 (B) 6 (C) 5 (D) 4

50. The denominator of a fraction is greater than numerator by 6. If 3 is added to numerator and 2

is subtracted from denominator, the fraction becomes 
6
7

, then the equation so formed is

fdlh fHk= dk gj] va'k ls 6 cM+k gS] ;fn va'k esa 3 tksM+k tk, vkSj gj esa ls 2 ?kVk fn;k tk;] rks

fHkUu 
6
7
 gks tkrk gS] rc lehdj.k D;k cusxk \

(A)
x 4 6
x 3 7





(B)
x 3 6
x 4 7





(C)
x 3 6

x 6 2 7
 

 
(D)

x 2 6
x 6 3 7


 



51. The value of 1 1 1 1 1 11 [1 1 (1 1 1 )]
2 2 2 2 2 4
      is

1 1 1 1 1 11 [1 1 (1 1 1 )]
2 2 2 2 2 4
      dk eku D;k gS&

(A)
1
2

(B)
1
4

(C)
1

16
(D)

11
5

52. If   2n
n 2 n2

3m 3

9 3 3 (27) 1
273 2




  



 then m – n is

vxj   2n
n 2 n2

3m 3

9 3 3 (27) 1
273 2




  



 rks m – n =

(A) 1 (B) 2 (C) 3 (D) 4
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53. A number lying between 10 and 100 is seven times the sum of its digits. If 9 is substracted
from it, the digits of the number are reversed. Then the number is

10 vkSj 100 ds chp dh ,d la[;k mlds vadks ds ;ksx dk lkr xq.kk gS A ;fn buesa ls 9  ?kVk;k

tkrk gS rkss la[;k ds vad iyV tkrk gS rks la[;k D;k gS

(A) 63 (B) 54 (C) 21 (D) 42

54. What is the least number by which 8640 is divided, the quotient as a complete cube number?

og NksVh ls NksVh la[;k D;k gS ftlls 8640 dks Hkkx nsus ij HkkxQy ,d iw.kZ ?ku la[;k gks A

(A) 6 (B) 7 (C) 5 (D) 8

55. If 
x y 1
y x
     x,y 0 , the value of x3 – y3 is

;fn 
x y 1
y x
     x,y 0  rks  x3 – y3 dk eku D;k gS \

(A) 1 (B) –1 (C) 0 (D)
1
2

56. The sum of the present ages of a father and his son is 99 years. When the father was as old
as his son is now, his age was four times age of the son at that time. The ratio of the present
ages of the son and the father is

,d firk vkSj mlds iq= dh orZeku vk;q dk ;ksx 90 o"kZ gS tc firk dh vk;q mlds iq= ftruh Fkh

vc mldh vk;q ml le; iq= dh vk;q dh pkj xquh Fkh A muds orZeku mez dk vuqikr gS A

(A) 3 : 7 (B) 3 : 8 (C) 4 : 9 (D) 4 : 7

57. The simplified value of 
   12 8 3 2

5 24

 


 is

   12 8 3 2

5 24

 


  dks ljy djus ij eku D;k gS A

(A) 6 2 (B) 2 6 (C) 0 (D) 1
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58. Four bells ring at intervals of 6, 7, 8 and 9 seconds respectively then all the bells ring
together after

pkj ?kfV;k¡ Øe'k% 6] 7] 8 vkSj 9 lsdsaM ds varjky ij ctrh gS fQj ,d lkFk fdrus nsj ds ckn ctsxh A

(A) 504 sec. (B) 516 sec. (C) 508  sec. (D) 512 sec.

59. The smallest number which when dividd by 4, 6, 10, 15 leaves the same remainder 3 is

lcls NksVh la[;k D;k gS] ftls 4] 5] 10] 15 ls foHkkftr djus ij 'ks"kQy 3 izkIr gksrk gS A

(A) 57 (B) 123 (C)  63 (D) 39

60. A farmer divides his herd of x cows among his 4 sons so, that first son gets-one-half of the
herd, the second son gets one-fourth, the third son gets one-fifth, and the fourth son gets
7 cows, then the value of ‘x’ is

,d fdlku viuh xk;ksa ds >q.M dks vius 4 iq=ksa esa bl izdkj ck¡Vrk gS fd igys iq= dks >q.M dk

vk/kk Hkkx nwljs iq= dks ,d pkSFkkbZ rFkk rhljs iq= dks ik¡pok¡ Hkkx rFkk pkSFks iq= dks 7 xk;sa izkIr gksrhs]

rks  ‘x dk eku D;k gS \

(A) 100 (B) 140 (C) 160 (D) 180

PART-D : BIOLOGY  (t ho foKku)

61. Which among the following are kharif crops?

(A) Maize (B) Paddy (C) Cotton (D) All of the above

fuEufyf[kr esa ls dkSu [kjhQ Qlysa gSa\

(A) eôk (B) èkku (C) dikl (D) mijksä lHkh

62. Carrier of dengue virus is

(A) House fly (B) Dragonfly

(C) Female aedes mosquito (D) Butterfly

Msaxw ok;jl dk okgd gS

(A) gkml ¶ykÃ (B) MªSxu ¶ykÃ

(C)  eknk ,Mht ePNj (D)  frryh
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63. Linseed is grown during the months of ______________

(A) March to June (B) October to March

(C) June to September (D) March to March

vylh &&&&&&& ds eghuksa ds nkSjku mxkÃ tkrh gS

(A) ekpZ ls twu (B) vDVwcj ls ekpZ

(C) twu ls flracj (D) ekpZ ls ekpZ

64. Nitrates are converted into nitrogen by

(A) Denitrifying bacteria (B) Nitrifying bacteria

(C) Ammonifying bacteria (D) Nitrogen fixing bacteria

ukbVªsV~l dks ukbVªkstu esa ifjoÆrr fd;k tkrk gS

(A) fMukbfVªQkbax cSDVhfj;k (B) ukbfVªQkbax cSDVhfj;k

(C) veksuhQkbax cSDVhfj;k (D) ukbVªkstu fQÇDlx cSDVhfj;k

65. The organic substance obtained from dead plants and animal wastes is
(A) Manure (B) Fertilizer (C) Irrigation (D) Agriculture

èr ikSèkksa vkSj tkuojksa ds dpjs ls çkIr dkcZfud inkFkZ gS

(A) [kkn (B) moZjd (C) ÇlpkÃ (D) —f"k

66. In which of the following methods of irrigation rotating nozzles are used?

(A) Moat (B) Drip system (C) Chain Pump (D) Sprinkler system

ÇlpkÃ dh fuEufyf[kr esa ls fdl fofèk esa jksVsÇVx ukst+y dk mi;ksx fd;k tkrk gS\

(A) [kkÃ (B) fMªi flLVe (C) psu iai (D) fNM+dko ç.kkyh

67. Pathogens were discovered by
(A) Edward Jenner (B) William Harvey (C) Pasteur (D) Robert Koch

jksxtudksa dh [kkst dh xÃ

(A) ,MoMZ tsuj (B) fofy;e gkosZ (C) ik'pj (D) j‚cVZ dksp

68. The following is an antibiotic

(A) Sodium bicarbonate (B) Streptomycin

(C) Alcohol (D) Yeast

fuEufyf[kr ,d ,aVhck;ksfVd gS

(A)  lksfM;e ckbdkcksZusV (B)  LVªsIVksekbflu

(C)  'kjkc (D)  [kehj
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69. The management and care of farm animals by humans for profit is known as

(A) Granary (B) Animal Husbandry (C) Poultry farm (D) Warehouse

ykHk ds fy, euq";ksa }kjk [ksr tkuojksa ds çcaèku vkSj ns[kHkky dks D;k dgk tkrk gS\

(A) vUu HkaMkj (B) i'kqikyu (C) iksYVªh QkeZ (D) xksnke

70. Vaccination was invented by

(A) Pasteur (B) Edward Jenner (C) Robert Koch (D) Robert Hooke

Vhdkdj.k dk vkfo"dkj }kjk fd;k x;k Fkk

(A) ik'pj (B) ,MoMZ tsuj (C) j‚cVZ dksp (D) j‚cVZ gqd

71. Raising of fish in inland waters and coastal waters are called

(A) Pisciculture (B) Fishery (C) fish culture (D) harvesting

varnsZ'kh; ty vkSj rVh; ty esa eNyh ikyu dks dgk tkrk gS

(A) eNyh ikyu (B) eRL; ikyu (C) eNyh laL—fr (D) dVkÃ

72. Pasteurization means -

(A) Vaccination for a baby against smallpox.

(B) Sterilization in steam cooker at 100° C.

(C) Heating milk or other liquids to 60°C to 70°C for short duration.

(D) A technique or curing people bitten by mad dogs.

ik'pjkbts'ku dk vFkZ gS &

(A) pspd ds f[kykQ ,d cPps ds fy, Vhdkdj.kA

(B) Hkki dqdj esa 100 fMxzh lsfYl;l ij caè;kdj.kA

(C) de vofèk ds fy, nwèk ;k vU; rjy inkFkZ dks 60 fMxzh lsfYl;l ls 70 fMxzh lsfYl;l rd xeZ

djukA

(D) ikxy dqÙkksa }kjk dkVs x, yksxksa dk bykt djus dh ,d rduhd ;k byktA
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73.   Combines are used for:

(A)   sowing of seeds (B)   harvesting the crops

(C)   threshing (D)   harvesting and threshing both.

la;kstu ds fy, mi;ksx fd;k tkrk gS%

(A)   chtksa dh cqokÃ (B) Q+lyksa dh dVkÃ

(C) FkzsÇlx (D) dVkÃ vkSj FkzsÇlx nksuksaA

74. The bacterial genome is called

(A) Nucleus (B) Nucleolus (C) Nucleoid (D) None

thok.kq thukse dgykrk gS

(A) U;wfDy;l (B) U;wfDy;ksyl (C) U;wfDy;‚bM (D) dksÃ ugÈ

75. What is the use of phosphides ?

(A) Rodenticide (B) Insecticide (C) Fungicide (D) Weedicide

QkLQkbM dk mi;ksx D;k gS\

(A) —ard (B) dhVuk'kd (C) doduk'kh (D) [kjirokj uk'kd

76. Which of the following tools would farmer use to remove weeds from the filed

(A) Hoe (B) Polugh (C) Axe (D) Cultivator

fuEufyf[kr esa ls fdl midj.k dk mi;ksx fdlku [ksr ls [kjirokj fudkyus ds fy, djsxk

(A) dqnky (B) iksyqx (C) dqYgkM+h (D) dYVhosVj

77. Operation flood is otherwise called

(A) Green revolution. (B) White revolution

(C) Black revolution. (D) Yellow revolution

v‚ijs'ku ck<+ dks vU;Fkk dgk tkrk gS

(A) gfjr Økafr (B) lQsn Økafr (C) dkyh Økafr (D) ihyh Økafr

78. Malaria is caused by

(A) Protozoa (B) Virus (C) Algae (D) Bacteria

eysfj;k fdlds dkj.k gksrk gS

(A) çksVkstksvk (B) ok;jl (C) 'kSoky (D) cSDVhfj;k



For Students in Class 8 going to Class 9  |  [SAMPLE TEST PAPER ] [ 19 ]

Mentors Eduserv: Parus Lok Complex, Boring Road Crossing, Patna-1
Helpline No. :  9569668800 | 7544015993/4/6/7

79. The most common carrier of communicable diseases.

(A) Ant (B) Housefly (C) Dragonfly (D) Spider

lapkjh jksxksa dk lcls vke okgdA

(A) pÈVh (B) gkml¶ykÃ (C) MªSxu¶ykÃ (D) LikbMj

80. Plant disease citrus canker is caused by

(A) Virus (B) Fungi (C) Bacteria (D) None of these

ikni jksx lkbVªl dSadj fdlds dkj.k gksrk gS

(A) ok;jl (B) dod (C) cSDVhfj;k (D) buesa ls dksÃ ugÈ

PART-E : MENTAL ABILITY  (ekufl d  ; ksX; rk)
81. How many triangles and squares are there in the following figure ?

(A) 29 triangles, 5 squares (B) 24 triangles, 4 squares

(C) 28 triangles, 4 squares (D) 24 triangles, 5 squares

fuEufyf[kr vk—fr esa fdrus f=Hkqt vkSj oxZ gSa\

(A) 29 f=Hkqt] 5 oxZ (B) 24 f=Hkqt] 4 oxZ

(C) 28 f=Hkqt] 4 oxZ (D) 24 f=Hkqt] 5 oxZ
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DIRECTIONS : How many triangles are there in the following figures ?

funsZ'k % fuEufyf[kr vk—fr;ksa esa fdrus f=Hkqt gSa \

82.

(A) 21 (B) 10 (C) 6 (D) 12

83. Find out the missing number in the following :

fuEufyf[kr esa yqIr la[;k Kkr dhft, %

3
6
7

5
2
4

4 21
3 11
2 ?

(A) 29 (B) 31 (C) 30 (D) 21

DIRECTIONS : The numbers in following questions have been arranged according to an identical
pattern. Find out the missing numbers.

funsZ'k % fuEufyf[kr ç'uksa esa la[;kvksa dks ,d leku iSVuZ ds vuqlkj O;ofLFkr fd;k x;k gSA yqIr la[;k
Kkr dhft,A

84.

7

4

31

5

9

48

6

8

?

(A) 51 (B) 46 (C) 49 (D) 54

85. Find the missing number.

yqIr la[;k Kkr dhft,A

2

1 64 2

3

4

1

0

3

3 100 2 5 ? 2

(A) 76 (B) 100 (C) 124 (D) 96
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86. How many squares are there in the following figure ?

fuEufyf[kr vk—fr esa fdrus oxZ gSa\

(A) 44 (B) 40 (C) 46 (D) 38

DIRECTIONS: In each of the questions given below, two signs in the equations given have been
interchanged. Find out these two signs to make the equation correct.

funsZ'k % uhps fn, x, çR;sd ç'u esa fn, x, lehdj.kksa esa nks fpàksa dks vkil esa cny fn;k x;k gSA
lehdj.k dks lgh cukus ds fy, bu nks fpUgksa dks Kkr djsa \

87. 51   3 + 17 × 2 – 12 = 10

(A) + and × (B) + and  (C)  × and  (D) – and ×

88. If ‘+’ means ‘x’, ‘–’ means ‘+’ ‘x’ means ‘  ’, and ‘  ’ means ‘–’, then

;fn ‘+’ dk vFkZ ‘x’, ‘–’ dk vFkZ ‘+’ ‘x’ dk vFkZ ‘  ’, vkSj ‘  ’ dk vFkZ ‘–’,  gS] rks

20 – 8 × 4 ÷ 3 +2 = ?

(A) 22 (B) 14 (C) 16 (D) 12

89. If + denotes ÷, × denotes +, – denotes × and ÷ denotes –, then which of the following statements
is correct ?

;fn + dk vFkZ gS] ÷, × dk vFkZ +, – dk vFkZ gS] × vkSj ÷ dk vFkZ gS –, rks fuEufyf[kr esa ls dkSu
lk fodYi lgh gS\

(A) 46 × 6 ÷ 4 – 5 + 3 = 74 (B) 46 ÷ 6 × 4 – 5 + 3 = 75.5

(C) 46 – 6 + 4 × 5 ÷ 3 = 71 (D) 46 × 6 – 4 + 5 ÷ 3 = 70.1

90. Vinay starts walking towards South, After walking 5 m he turns Left. After walking 5 m, he
turns towards South and walks 7 m. How far is he from his original position and in which
direction?

(A) 13 m, North (B) 13 m, South (C) 13 m, East (D) 13 m, North-East

fou; nf{k.k dh vksj pyuk 'kq: djrk gS] 5 ehVj pyus ds ckn og ck,a eqM+rk gS fQj 5 ehVj pyus
ds ckn] og nf{k.k dh vksj eqM+rk gS vkSj 7 ehVj pyrk gSA og vius ewy LFkku ls fdruh nwj gS vkSj
fdl fn'kk esa gS \

(A) 13 m, mÙkj (B) 13 m, nf{k.k (C) 13 m, iwoZ (D) 13 m, mÙkj&iwoZ
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91. Mukesh wants to go to the market, She starts from her home which is in North and comes to
the crossing. The road to her left ends in a park and straight ahead is the office complex. In
which direction is the market the crossing?

(A) East (B) West (C) North (D) South

eqds'k cktkj tkuk pkgrk gS] og vius ?kj ls 'kq: djrh gS tks mÙkj esa gS vkSj pkSjkgs ij vkrh gSA
mldh ckbZa vksj dh lM+d ,d ikdZ esa lekIr gksrh gS vkSj lh/ks dk;kZy; ifjlj gSA cktkj fdl fn'kk
esa gS\

(A) iwoZ (B) if'pe (C) mÙkj (D) nf{k.k

92. Jai left home and cycled 10 km towards North, turned right and cycled 5 km & turned right
and cycled 10 km and turned right and cycled 10 km. How many kilometer will he have to
cycle to reach his home straight ?

t; us ?kj ls fudy dj mÙkj dh vksj 10 fdeh lkbfdy pykbZ] nk,a eqM+ x;k vkSj 5 fdeh lkbfdy
pykbZ vkSj nk,a eqM+ x;k vkSj 10 fdeh lkbfdy pykdj fQj nk,a eqM+ x;k vkSj 10 fdeh lkbfdy
pykbZA lh/ks vius ?kj igq¡pus ds fy, mls fdrus fdyksehVj lkbfdy pykuh gksxh\

(A)  10 km (B) 5 km (C) 20 km (D) 15 km

93. If   stands for greater  than, x stands for addition, + stands for division, – stands for equal to,
> stands for multiplication, = stands for less than, < stands for minus, then which of the
following alternatives is correct ?

;fn   dk vFkZ blls cM+k gS] x dk vFkZ ;ksx gS] + dk vFkZ Hkkx gS] –  dk vFkZ cjkcj gS] > dk vFkZ
xq.kk gS] = ls de gS] < dk vFkZ ekbul gS] rks fuEufyf[kr esa ls dkSu lk fodYi lgh gS\

(A) 3 + 2 < 4   6 > 3 x 2 (B) 4 × 3 < 5 – 8 + 2 < 2

(C) 3 > 2 < 4 – 6 x 3 x 2 (D) 4 × 3 × 5 = 8 + 4 < 3

94. Village Chimur is 8 km to the North of village Rewa. Village Rahate is 6 km to the East of
village Rewa. Village Angne is 9 km to the West of Chimur. If Sanjay starts from village
Rahate and goes to village Angne, find the distance and direction from starting point ?

(A) 17 km North (B) 17 km North-West

(C) 17 km South (D) 17 km South-East

fpewj xkao jhok ds mÙkj esa 8 fdeh nwj gSA xkao jgkVs xkao jhok ds iwoZ esa 6 fdeh nwj gSA vaxus xkao
fpewj ds if'pe esa 9 fdeh nwj gSA ;fn lat; xkao jgkVs ls 'kq: gksdj vaxus xkao tkrk gS] rks vkjafHkd
fcanq ls nwjh vkSj fn'kk Kkr dhft, \

(A) 17 km mÙkj (B) 17 km mÙkj&if'pe

(C) 17 km nf{k.k (D) 17 km nf{k.k&iwoZ
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95. A man walks 30 m towards South. Then turning to his right he walks 30 m. They turning to his
left he walks 20 m. Again turning to his left he walks 30 m. How far is he from his starting
position?

,d vkneh nf{k.k dh vksj 30 ehVj pyrk gSA fQj vius nk;ha vksj eqM+dj og 30 eh pyrk gSA os
fQj vius ck;ha vksj eqM+rs gSa] vkSj 20 ehVj pyrk gSA fQj ls vius ck;sa eqM+dj og 30 eh pyrk
gSA og vius vkjafHkd LFkku ls fdruh nwj gS\

(A) 30 m (B) 20 m (C) 80 m (D) 50 m

96. If ‘20 – 10’ means 200, ‘8   4’ means 12, ‘6 x 2’ means 4 and ‘12 + 3’ means 4, then

;fn ‘20 – 10’ dk vFkZ 200, ‘8   4’ dk vFkZ 12, ‘6 x 2’ dk vFkZ 4 vkSj ‘12 + 3’ dk vFkZ 4 gS] rks

100 – 10 x 1000   1000 + 100 x 10 = ?

(A) 0 (B) 1090 (C) 1900 (D) 20

97. Manoj runs 10 m towards South and turns to right, runs 10 m and turns to right run 10 m and
again turns to left, runs 10 m and then turns to left, runs 10 m and finally turns to left and runs
10 m. Now, which direction is he facing?

(A) East (B) North (C) West (D) South

eukst nf{k.k dh vksj 10 ehVj nkSM+rk gS vkSj nk,a eqM+rk gS vkSj 10 ehVj nkSM+rk gS fQj nk,a eqM+rk
gS vkSj 10 ehVj nkSM+rk gS fQj ck,a eqM+rk gS] vkSj fQj 10 ehVj nkSM+rk gS vkSj fQj ck,a eqM+rk gS vkSj

fQj ls 10 ehVj nkSM+rk gS vkSj var esa ck,a eqM+rk gS vkSj 10 ehVj nkSM+rk gSA vc og fdl fn'kk dh
vksj mUeq[k gS\

(A) iwoZ (B) mÙkj (C) if'pe (D) nf{k.k

98. Find the wrong terms ?

xyr la[;k Kkr djsa \

3, 1.5, 1.5, 2.5, 4.5, 11.25

(A) 1.5 (B) 4.5 (C) 2.5 (D) 11.25

99. Direction [Qs. 99 to 100] : Find the Next terms ?

funsZ'k [99 ls 100] % vxyk in Kkr dhft, \

2, 3, 5, 7, 11, 13, 17, ?

(A)  21 (B) 23 (C) 19 (D) 25

100. 77, 49, 36, 18, ?

(A)  9 (B) 7 (C) 3 (D) 8
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